Algebra 2 & Trigonometry Test Review




Name _____________________________

UNIT 7: Sequences & Series





Date __________________ Block ______
	Learning

Target A
	I can identify, mathematically define, and graph arithmetic, geometric, and infinite geometric sequences and series, generalize patterns in a sequence using explicit and recursive formulas.


1-2:  State whether the sequence generated by the recursive formula is arithmetic (A) or geometric (G).  

Then write the first four terms of the sequence and sketch a graph below your terms.
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a1 = 10, 
an = an-1 + 2, n > 2  _________

2.
a1 = 12, an = 
[image: image1.wmf]1
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an-1, n > 2  _________

______ , ______, ______, ______



______ , ______, ______, ______


3-4:  Write the recursive and explicit formula that generates each sequence, and then find the indicated term.  
	n
	1
	2
	3
	4
	5

	an
	-2
	6
	-18
	54
	-162


3.  
-5, -10, -15, -20, . . . 



4.


Recursive:__________________________________      Recursive:__________________________________

    Explicit:__________________________________           Explicit:__________________________________
     a10 = _________




     a17 = _________




[image: image26.wmf]5-6:  State whether each indicated sequence is arithmetic or geometric.  Then write the recursive and explicit formulas that generates the sequence.
	n
	0
	1
	2
	3
	4

	an
	-142
	-37
	68
	173
	278


5.





          
6.   

Recursive:__________________________________      Recursive:__________________________________

    Explicit:__________________________________           Explicit:__________________________________
7-8:  Find the first four terms of the given sequence.

7.  an = 3an-1 – 3, a1 = 1




8.  an = 
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an-1 + 4, a1 = 6
______ , ______ , ______ , ______



______ , ______, ______, ______



Identify each sequence as arithmetic, geometric, or neither.  Then find the next 3 terms.
	7.  -5, -3, -1, 1, …
	8.  -4, 
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2

-

, -1, 
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2

, …
	9.  12, 6, 3, 
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	10.  
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3

, -1, 3, -9, …

	
	
	
	

	_____, _____, _____
	_____, _____, _____
	_____, _____, _____
	_____, _____, _____


Find the nth term in each sequence:  (11-12) arithmetic, (13-14) geometric.  Show work in space below.
11.  a6 = 17, a12 = 29; 

a30 = ____________


12.  a1 = 7.5, a9 = -8.5; 
a6= ____________




13.  a5 = 48, a8 = -384; 
a10= ____________


14.  a3 = -6, a6 = 
[image: image7.wmf]4

3

; 

a10 = ____________

Find the arithmetic means.  Show work (equation) in space below.
15.
____, 2, ____, _____, _____, _____, _____, 10 

16.
_____, 4, _____, _____, 500

Find the geometric means.  Show work (equation) in space below.
17.
____, 3, ____, _____, 24, _____

18.
_____, 2, ____, ____, ____, 512
Write each series in expanded form & find its sum.  Circle your final answer.
19.
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20.
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Express each series in sigma notation.  Remember:  use the an formula with n as the variable!
21.     4 + 8 + 12 + 16





22.
3 + 
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+ 
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 + 
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23.
5 + 
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+ 2 + 
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24.     –4 + 8 – 16 + 32 - 64


25.
-5 – 2 + 1 + 4 + 7 + 10




26.
-1 + 3 - 9 + 27

State whether each infinite geometric series is convergent or divergent.  Then find the sum, if it exists.  Circle your final answer.
27.  a1 = 1, r = 
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28.  a1 = 8, r = 2

29.  540 – 180 + 60 – 20 + ….




30.  
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31.  On its first swing, a pendulum travels 8 feet.  On each successive swing, the pendulum travels 
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5

the distance of its previous swing.  What is the total distance traveled by the pendulum when it stops swinging?

Find the sum of each series.  Circle your final answer.
32.
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33.
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34.
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35.
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36.   a1 = 6, a6 = 21 (Arithmetic)   



37.   5 + 8 + 11 +14 + …..; find S22

38.   2 – 1 + 
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39.
a1 = 2, d = 5, n=20
40.
a1 = -2, r = 
[image: image23.wmf]2
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-

; find S5




41.
a7 = 128, r = 2; find S7
42.  Matthew is training to run a marathon.  He runs 20 miles the first week of training and each week he increases the number of miles he runs by 4 miles.  How many total miles did he run in 8 weeks of training?
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